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M tigs J 6-10 7.4 -89 8.3 =
HEE (mgh) 100 <20 <20 =
BRI A E  (mg/) 10 <2-21 2.0 =
REYHEE (mg)) 2000 170.2 - 411.7 283.0 =
WAL 4 E  (mg/) 10 <0.5-4.5 1.4 =
FLYEEE (mg/)) 0.1 <0.04 <0.04 =
O EIRREE (mg/)) 100 <15-16.6 15.2 =
HHE  (mg/) 20 <10 <10 =
M&dE (mg/) 0.5 <0.3 <0.3 =
RERAEE (mg/) 1 <0.6 - 0.64 0.61 =
FEE MR (mg/) 15 <7 <7 =
EEFHRE (mg) 2500 100 - 255 154 =
AHERE  (mg/) 200 10.7 - 38.1 223 =
g (O 43 21-27 24.9 &
IR Y=Y EOEHER | B ELLTS [ BEHE DL =
FEESB

i (mg/l) 2 <0.4 <0.4 =
#5 (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/l) 1 <0.3-0.42 0.32 =
#i  (mg/l) 2 <0.5 <0.5 =
25 (mg/l) 2 <1 <1 =
#m (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
77 (mg/l) 2 <1 <1 =
IR (mg/) 2 <0.4 <0.4 =
% (mg/l) 5 <1 <1 =
¥ (mg/l) 2 <1 <1 =
EaeBEEHS (mg) 10 <7-7.1 7.0 p=s
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i (mg/) 5 <1 <1 =
#  (mg/l) 10 <2 < =
e &k
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR LT (mgl) 0.01 <0.01 <0.01 s
FEZELEEY -
AEE (mg/l) 0.1 <0.06 <0.06 =
EEMiEeyw
1,1,1- = & 2 5% (mg/) 0.05 <0.025 <0.025 s
ZEPEE
% & K 48 & (mg/) 0.003 <0.003 <0.003 s
BHMEYE :
B EBEME & (pc/l) 10000 <10000 <10000 s
#%-226 (pc/l) 30 <30 <30 =
#8-90 (pc/l) 100 <100 <100 s
# FESBEEEE W 7 88 8% 8 8 - 8 52~ BR -

57 M
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ERREERYBHESE (ZE—-=FIUH)
2 122 1 PR R S 8 FERE
(B/E)
() =+oaEyEsm o
gk (mg/m’) 30 0.0 - 2.9 0.0 s
— & /bH (mg/m’) 200 0.0 - 1364 73 s
EAf%E (mg/m’) 60 0.1 - 12.5 1.6 s
#E (mg/m) 4 0.0 - 0.1 0.0 s
HEY
(ML= & (L& sh8) 400 48.8 - 180.1 100.1 y
(mg/m’)
YA IR (mg/m)) 20 0.0 - 3.0 0.1 e
— & L% (mg/m”) 100 0.0 - 49.7 4.4 e
() HigE?
ik (mg/m’) 10 0.0 - 0.1 0.0 e
&AL (mg/m’) 50 14 - 183 7.2 e
BifE (mg/m’) 10 0.5 - 2.6 1.6 e
HALE (mg/m) 1 0.00 - 0.03 0.02 e
EAE=R (et
(L= &1L & 51 &) 200 75.6 - 1273 100.6 =
(mg/m’)
YA (mg/m’) 10 0.00 - 0.13 0.05 s
— & BB (mg/m’) 50 25 - 178 43 s
(W) Eftt
AR ELEEY
(L&E R & 25 &) 24 <15 <15 yass
(mg/m’)
AN ELLEY
(LB teEaE2il5H) 18.8 <0.6 <0.6 yass
(mg/m’)
?iﬁn 3() Bl Bt 5) 375 6.2 6.2 =
e 2 (B TED) (mg/m) 5.5 <0.2 <0.2 s
A FCGRAEE (me/m)) 5 <15 <1.5 =




EX 28 I R R “E R S 8 FERE
(B/F)
EaeBE—8"Y
FEEGE
E%i%(% RH 0.05 <0.010 <0.010 b
= (mg/m)
EESBE R
i (mg/m’) 0.06 <0.002 <0.002 &
FEECGE
E%i%(% RH 0.5 <0.075 <0.075 b
= (mg/m)
F (mg/m’) 0.05 <0.002 <0.002 &
TEEH (ng/m’) 0.075 0.0075 0.0075 e

=
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Q) FEFRERE AR NINEANEEEE -
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28 22 ) IR 4GE R ST FERE
(B/&)
F—E o
. 8 (R

% tig FE (7K) (H;J IR 11.4-12.7 12.4 yea
)

EEE S (%) |0 (H;{E‘WE 49 - 85 66.2 =
)

EBEsE :

#% (ppm) 0.5 <0.5 <0.5 Vi

7K (ppm) 0.1 <0.02 <0.02 yass

A E (ppm) 10 <0.5 <0.5 yiea

#i (ppm) <0.5-3.9 1.3

# (ppm) <05 <0.5

#r (ppm) <1-21 1.1

# (ppm) <0.5-3.8 1.5

G B A O =< o

MR (ppm) 25 <25-8.8 45 yea

# (ppm) 20 <1 <1 =

ALY (ppm) 10 <5 <5 yea

AL E (ppm) 10 <2-57 2.3 =

21?7 (ppm) 5 <5 <5 =

R

HEMEEKRY & o

B (ppm) 5000 <15 <15 yass

B HE R EE -

(ppm) 10 <5 <5 E

KX & = o

(ppm) 2 <2 <2 =

% &2 (ppm) 1 <1 <1 =

TCDD (ITEF %) =

(ppb) ! <1 <1 =
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